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CCAT Sample Test

Take this test to see where you are at in your preparations.
You can find more sample questions and info on our Criteria Cognitive
Aptitude Test (CCAT) study guide

1. Jonathan and his sister Jennifer have a combined age of 48. If Jonathan is
twice as old as his sister, how old is Jennifer?

2. Select a pair of words with a similar relationship.
Sneakers: Shoes

A) Wood: Table
B) Clothes: Closet
C) Collar: Dress

)

D) Cookies: Dessert

3. Which picture is not like the others?

A. | B. =
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4. Which of the following data entries have inconsistencies?

1. 4566746__ 4566746
2. 3588639__35858369
3. 2546844__2564544
4. 2765524__ 2765524
5. 6488342__ 6488432

5. Manifestis the opposite of:

A) Obscure

B) Conspicuous

C) Demonstrate
)

D) Capacious

6. Select a pair of words with a similar relationship.
Silk: Shirt

A) Keyboard: Computer
B) Glass: Jar

C) Key: Door

D) Student: Class
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7.  Which picture best completes the pattern?

»(Qo
?

QBO| |OCa| QGO

0

8. Liberate is the opposite of:

A) Emancipate

B) Redeem

C) Incarcerate
)

D) Deliver

Bl || PracticesMe 4 1B


https://www.practice4me.com?utm_medium=pdf&utm_source=pdf&utm_campaign=ccat

9. Choose the following number in the sequence:
2,4,6,-2,18,-8,

>

) 54
)-24
)1
)1

O w

6
D) 10

10. If William can read 24 pages in an hour, how many pages will he be able
to read in six and a quarter hours?

A) 138
B) 144
C) 150
D)110
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Answer Key:

1. B.16: Jennifer would have to be 16 and Jonathan would have to be 32
for their combined ages to be 48.

2. D. Cookies: Dessert: Sneakers are a type of shoe just like cookies are a
type of dessert. By contrast, a table is made from wood, clothes belong in
a closet, and a collar is a part of a dress.

3. E:Eisthe only choice where the flaps are folded down from the edges of
the square and not from the corners.

4. D.2+43+5: Entries 2, 3, and 5 have errors.

5.  A.Obscure: Manifest has two meanings. It means both evident or
conspicuous and to demonstrate. Obscure is the opposite of the first
meaning of the word, and capacious is unrelated.

6. B.Glass: Jar: In the example given, the first word, silk, is the material of
the second word, shirt. B is the correct answer because a jar can be made
from glass.

7. B.The answer should follow the pattern both horizontally and vertically.
That's why the answer should show a diamond with a box on the right and
a figure-8 on the left.

8. C.lIncarcerate: Liberate means to set free while incarcerate means to put
in jail. So, they are clear opposites. Emancipate and redeem are both
synonyms, and deliver is unrelated.

9. A.54:The pattern’s rule is as follows: multiply the first number by three to
get to the third number and then multiply by three to get to the fifth

number, and so on. Then subtract é from the second number to get to the
fourth number and then again to get to the sixth number.

10. C.150: 24%6.25=150
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